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' BHEAD

BT T F & o QU R 4 5 . 158K | 15~645% | 65mLl L

# 5l 31,732 | 97,699 | 49,357 | 48,342 | 16,256 | 74,157 7,286
A W — T E 629 1,900 950 950 291 1,472 137
L W = T K 353 1,106 561 545 184 839 83
A W = T H 374 1,084 533 551 143 846 95
| % » & — T H 338 971 483 488 143 757 71
% » & — T H 628 1,940 978 962 346 1,468 126
% » &~ = T B 261 831 421 410 122 645 64
% » A& ™ T H 247 794 399 395 138 599 57
% » & £ T H 479 | - 1,454 719 735 222 1,139 93
&% » & A~ T H 204 648 338 310 123 484 41
% » & t T H 393 1,258 624 634 215 957 86
% » &~ ST H 340 1,134 541 593 202 877 55
% » & L T B 414 1,360 699 661 203 1,044 | 113
W e »r & — T H 198 590 311 279 91 469 30
Wk »r &= T H 870 2,791 1,435 1,356 572 2,042 177
W »r &=TH 565 1,896 939 957 461 1,329 106
Bg 5 — T H 376 1,130 584 546 162 859 109
M s &= T H 249 698 374 324 125 522 51°
| % »r # =T B 139 396 203 193 69 286 41
[l S T H 353 1,189 604 585 250 896 43
E i V) 720 1,869 928 941 297 1,345 227
HoE P i — T H 176 548 280 268 82 | 396 70
WE®HHEZTH 289 808 410 398 113 597 98
WA ®H 4 =TH 335 1,069 541 528 164 840 65
@ ¥ 2 m T H 462 1,419 729 690 212 1,083 124
®HE ¥ L HETH 358 1,055 546 509 170 814 71
®E ¥ 2L~ T H 384 '1,245 642 603 170 995 80
®HE ¥ 2t T H 531 1,520 775 745 192 1,168 160
7} el BF 33 1,524 4,980 2,460 2,520 882 3,847 251
LS A R 365 898 494 404 73 734 91
H R 574 1,912 947 965 379 1,345 188
® o R — T H 409 1,144 586 558 191 875 78
B o R Z T H 617 1,832 921 911 302 1,390 140
o R = T H 560 1,789 892 897 288 1,323 178
® o R T H 1400 1,279 650 629 199 981 99
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W T O & LR = G I < % | 158K | 15~64% | 658LLE

* & R — T H 333 1,077 522 555 243 788 46

b R Z T H 503 1,645 825 820 327 1,226 92

& R = T H 236 748 406 342 134 586 28

W g 1,421 4,642 2,320 2,322 750 3,458 434

MM E — T H 407 1,404 716 688 234 1,085 85’

W E Z T H 431 1,478 762 716 275 1,122 81

MM E = T H 450 1,522 764 758 252, 1,175 95

m B m© T H 789 2,243 1,158 1,085 365 1,699 179

MW E #n T H 361 1,045 521 524 181 780 84

MW =E A~ T H 210 690 335 355 138 501 51

+ gy % 393 1,151 580 | - 571 216 849 86

R — T H 242 715 362 353 95 554 66

koo T H 574 1,707 860 847 299 1,279 129

5 M — T H 203 543 286 257 91 400 52

g5 M = T H 522 1,440 728 712 195 1,093 152

® # 2 — T H 360 1,205 636 569 186 954 65

® 9 B - T H 245 811 388 423 140 623 48,

®ow E = T B 433 1,475 744 731 177 1,186 112

WO =2 W T H 415 1,371 690 681 142 1,140 89

W ® B2 A T H 647 2,059 1,017 1,042 296 1,602 161

1" 8 ~ T H 178 528 263 265 74 418 36
| <@ —TH 554 1,814 909 905 398 1,330 86
<k X = T B 435 1,153 559 594 155 923 75

C . ¥l =T H 392 1,129 598 531 151 905 73

K % ¥ W T H 374 934 500 434 161 711 62
< s &l HE T H 384 1,306 647 659 376 889 41

i W5 #r M 29 90 48 42 13 71 6

L3 B 768 2,503 1,283 1,220 | 465 1,855 183

£ e il 237 742 380 362 105 559 78

BofEEM - T H 176 583 293 290 99 420 64

B EM T H 230 688 345 343 93 556 39

WMk ER - T H 427 1,246 634 612 190 986 70

| &M T H 352 1,091 570 521 192 839 60
3] ¥ # i 171 534 259 275 73 404 57

25 It /N 195 639 1335 304 106 482 51

| — T H 281 754 360 . 394 86 561 107
lawsmdwe = TH 165 471 232 239 81 339 51
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T % % Ho %R | B | & | 15Eukil | 15~648 | 65 E
BEH DR =T H 436 1,180 595 585 176 866 138
M kg™ T H 412 1,143 571 572 167 886 90
B AR TH 185 509 263 246 65 378 66
ME A — T H 387 1,161 584 577 186 908 67
MEARETZTH 314 971 488 483 145 749 77
it ) = 168 473 236 237 89 356 28
5 MW = T H 193 549 288 261 98 403 48




